&

—ECONOMICS

Paper-I1I (B) : Application of Mathematics to Economics
Tim¢ Allowed : Three Hours

Maximum marks : 100

Part-A (Compulsary)
1. Explain the meaning of the following :
TiforRas o s W -
(i) Budget line. E ARG ]
(ii) Elasticity of substitution. fRaE &1 d
(iii) Constant sum game. Rer I/ @@
(iv) Producer's surplus. IARS DI F6d
v) Production function. (¢ L IGE]
(vi) ZE€ro sum gaime. I A e
" (vil)  Mixed strategy. - fafa 2ora
(viii) > _ Trade cycle. AR d%b
(ix)  Multiplier. Ui
(%) Final demand. : i i |
Part<B (F71-3)
2. (a) Define the price elasticity of demand. If the price elasticity of demand
is 2.75, interpret it, ’ ‘ _
w7 &1 e @i @1 gRATT SRR | Ak Ji T B B T B AN 2.
75 R A ZGH g PR ‘ A

() If supplyfnetion P=2X + 1 and X =3, find producer's surplus.
afg qfd Herd P=2X + 174 X = 3 21 Al SURS & gud =k S |

(©). Tithutility function U = X7X3 and budget equation : y =P X, +
P X, find the simple demand function for X .
AR SuAfTE B U = X2X2 IR T ¥leRv y =P X +PX, @
A X, T RO AT BT A PR | |

(d) For given Cobb Douglas production Q=L9%4K¢ WhereL is labour
and K is captal. Verify Eular’s theorem. i
e <o SIEA e R §oN ¥ Q = Lo K% WiEl L s T K
o 31 emer W Rig HifoTe |

(¢) - What are the assumptions of input-output model?
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HIT-aT A B =TT T &7
Part-C (11-3)

| . Unit-1 (P1E-1)

mel optimum commodity purchases given the utility function as U

=q°, ¢*, and the budget constraint as q, +4q,=10.

A ST %o U = 2, P, 7ol a1 i +4q,=10Rm &

A T3 B IAner By 12)1:1 I B |

For a linear homogenous production

UH WY GHGY SO
[21—1ab —Ab* - 131,2]

(a+l)b

Show the average and marginal products of the&factors depend only
on the ratio of factors.

ﬁﬁaaﬁﬁm&%mﬁ%%a%wﬁw@%mw

X=

R %I Y
. Unit-TI (S515—10)
Solve the following L.P.P. :
=1 &R denfi s AR
Maximise =~ Z=2x #35x) +7x,
ey
Subject Lo 3Xp P 2X H+ 4%, < 100
qufdeeq X+ 4%, 2X, < 100
Xp+X,+3x, <100
and U9 X, ,X,, X, > 100
Solve the'following game :
=1 @ pLea o
-2 0 0 5 3
4.4 212
3 6

]4 30 3
5 1 -5 -2 -6

Unit-1TT (SH1E-111)
If (1-A)"is given as below :

afe (1- A fFr=T 8

[1.17 001 0.06 0.28]
0.06 1.02 0.06 0.02
0.16 023 14 0.10
(0.31 006 029 133
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And?inal demand
AR Afm A

(7]
10
5
| 20]
Find the quality of products.
B 1 SR H AN S B
- OR
Explain the following coneépts :

(i) Importance of Iaput-output analysis in Economic Pl anmng
(i1) Componentsiof*value added

(11) Investmentrequirements

~(iv) Closed Leontief model.

Ao sraarmal @ wse HIRvA -

(i) @i’ Imirer % srra-fefa Rreerson &1 #ea
(i) 9= 9fia & arqua

(i) R sravgsmant

(iv) ¥< feraifew disa |

d=
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